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Q 4 A particle of mass m1 has a velocity u towards a stationary second particle of mass m2 as 
shown. Determine expressions for the velocities of each particle following their collisions. The 
coefficient of restitution is e. 

 
 
The total momentum before a collision is equal to the total momentum after the collision. 
 
After collision the velocities change to v1 and v2 respectively. 
 
The initial momentum = m1 u1 + m2 (0) = m1 u1 

 
The Final momentum = m1 v1 + m2 v2
 
By the law of conservation of momentum we have    vmvmum 221111 +=  
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v1 = v2 - eu1        v2 = v1 + eu1   
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